Model:

dH/dt = rH -aHL H(0) = 30 r= 0.47 a= 0.024 r/a = 19.58 =Le
dL/dt = -sL + bHL L(0) = 4 S = 0.76 b= 0.023 s/b = 33.04 = He
Model | Model
Data Data Hares Lynx
time| Hares | Lynx | (x1000) | (x1000)
Year| t | (x1000) | (x1000) H(t) L(t) H'(t) L'(t) H(t+0.5) | L(t+0.5) | H'(t+0.5) | L'(t+0.5)
1900 O 30 4 30 4] 11.22 -0.28 35.61 3.86 13.44 0.23
1901| 1 47.2 6.1 43.44 4.23| 16.01 1.01 51.44 4.73 18.33 2.00
1902 2 70.2 9.8 61.77 6.23] 19.80 412 71.67 8.29 19.43 7.36
1903| 3 77.4 35.2 81.20 13.59( 11.67 15.06 87.03 21.12 -3.22 26.23
1904| 4 36.3 59.4 77.98 39.83| -37.88 41.16 59.04 60.41 -57.84 36.12
1905| 5 20.6 41.7 20.14 75.94| -27.24 | -22.54 6.52 64.67 -7.05 -39.45
1906| 6 18.1 19 13.08 36.49| -5.31 -16.75 10.43 28.11 -2.13 -14.62
1907 | 7 21.4 13 10.95 21.87| -0.60 -11.11 10.65 16.31 0.84 -8.40
1908| 8 22 8.3 11.79 13.47] 1.73 -6.58 12.65 10.17 2.86 -4.77
1909 9 25.4 9.1 14.64 8.69] 3.83 -3.68 16.56 6.85 5.06 -2.60
1910| 10 27.1 7.4 19.70 6.09] 6.38 -1.87 22.89 5.16 7.92 -1.20
1911 11 40.3 8 27.62 4.89 9.74 -0.61 32.49 4.58 11.70 -0.06
1912| 12 57 12.3 39.32 4.83| 13.92 0.70 46.28 5.18 16.00 1.58
1913| 13 76.6 19.5 55.32 6.41| 17.49 3.28 64.06 8.05 17.73 5.74
1914| 14 52.3 45.7 73.05 12.15] 13.03 11.18 79.57 17.74 3.51 18.99
1915| 15 19.5 51.1 76.56 31.14| -21.23 31.17 65.95 46.72 -42.96 35.36
1916| 16 11.2 29.7 33.61 66.50| -37.84 0.86 14.69 66.93 -16.69 -28.26
1917 17 7.6 15.8 16.92 38.24| -7.58 -14.18 13.13 31.15 -3.64 -14.27
1918| 18 14.6 9.7 13.27 23.97| -1.40 -10.90 12.57 18.52 0.32 -8.72
1919 19 16.2 10.1 13.59 15.25| 1.41 -6.82 14.30 11.84 2.66 -5.11
1920| 20 24.7 8.6 16.25 10.15] 3.68 -3.92 18.09 8.19 4.95 -2.82
ave: 34.1 20.2
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